Aluminium multiplier KM850 series

KmM8501

Spare parts:

No. Description Quantity No. Description Quantity
1 Nut M8 12 16 Sealing ring $50X 65X 8 1
2 Oil dipstick with vent 3/8” 1 17 Housing 1
3 Oil drain plug 3/8” 2 18 Socket cap screw M8 X 60 12
4 QOil filling cap 3/8” 1 19 Bearing type 6210 1
5 Peg 10 X9 2 20 Ring gear 1
6 Gasket 1 21 Snap ring UNI 7435-50 1
7 Sealing ring $45X62X8 2 22 Ring 1
8 Bearing type 6010 1 23 Spring 1
9 Bearing type 6009 4 24 Spring ring 1
10 Female DP 16/32-30° -21T 1 25 Ball 3
11 Female 1 3/8” DIN 9611 1 26 Female 1 3/8” DIN 9611 + tightening 1
12 Key 12 X 25 1 27 Snap ring dia.50 1
13 Male 1 3/8” DIN 9611 1 28 Gasket 4
14 Pinion gear 1 29 Cover 1
15 Cap DIN 470 $38 1

Technical sheet:
Input torque Output torque Input speed .. . Output speed Power Weight
P (Nm)q p(Nm) 9 F:r/mipn) Transmission ratio (r:/mir:’) (Kw) (Kgg)
765 254 540 1.5 810 35 13
865 235 540 2 1080 35 13
921 175 540 2.5 1350 35 13
963 158 540 3 1620 35 13
902 131 540 3.5 1836 35 13
872 164 540 3.8 2052 35 13




Aluminium multiplier KM850 series

Three views:

358 [14.09]
s G ilnecap 96 [3.78] 98 [3.86]
6-M12 Y —
Depth 16 d g 3[0.12]
9 — N 7 70 (2.76]
17 -
%S g 38.1
E 150 =~
E HR\Y NN ’ Se—=r—y | | npuT
K 5| | SIDE
120° =
&)
@& 1'3/8 76
2|3 ’ DIN 9611
155 [6.10] = E Qil drain plug
i A A-A
- ™~ A-A
42.4[1.67] 102[4.02) . 102[4.02) 42.4(1.67) 70283
L 32.35[1.27] 32.35[1.27] I -

7.2(0.28]

o

=S /“\ ) OUTPUT
e Jé k’\; f) 2| o SIDE
R SE
i Sl y gl g
@/ P BN 8- ms 3 2
% ol &3
- .i% Depth 16 o=
96 [3.78] . 96 (3.78] 2 s
x| S
128 [5.04] 128 [5.04] Km8501
L
A
P.T.O.
44[1.73
99(3.90] o 8189 — (1.73] ! ~
i ] 1'3/8 DIN9G11A DP 16/32-30° 21T I 1'3/8 DINGG11A
70[276) / I e R X\
! - o ol B -
i Be= w = R 2
Elg ‘ SR — gr =
381[L50] | _ 909 | | esfasel | [ St E
1'3/8 DIN9611A 190469 B 1553 b 16f4ss] bl




Aluminium multiplier KM850 series

How to order:

KM

850

| KM = Speed increaser (aluminium body)

| 850 = Series

P.T.O.

1=Male 1" 3/8 DIN 9611

2 = Female 1” 3/8 DIN 9611

3 = Female DP 16/32-30° -21T

4 = Female 1” 3/8 DIN 9611 + tightening

Flange

Omit for pumps GR.3/GR.2

T =SAE B (96101) - see page 28
W = SAE A (96100) - see page 35

For example: KM8501-6

ransmission ratio
115
:2.0
)
: 3.0
35
138

U DS WN P -

il






